M-8-1-2_Is It Linear and KEY

For each graph, table, equation, or sequence, circle 

Name_________________________
Linear or Not Linear and explain why.

1.

	x
	−4
	−2
	0
	2
	4
	6
	8

	y
	3
	4
	5
	6
	7
	8
	9


Linear / Not Linear


Why?___________________________________________________________________
2.
y = −2x2 −2x −2

Linear / Not Linear


Why?___________________________________________________________________
3.

	x
	−4
	−3
	−2
	−1
	0
	1
	2

	y
	−26
	−14
	−6
	−2
	−2
	−6
	−14



Linear / Not Linear


Why?___________________________________________________________________
4.
−8, −5, −2, 1, 4, 7, 10, …

Linear / Not Linear


Why?___________________________________________________________________
5.
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Linear / Not Linear


Why?___________________________________________________________________
6.
−20, −10, 90, 100, 200, 210, 310, 320, …

Linear / Not Linear


Why?___________________________________________________________________
7.

	x
	24
	28
	32
	36
	40
	44
	48

	y
	−2
	−1
	0
	1
	2
	3
	4


Linear / Not Linear


Why?___________________________________________________________________
8.
y = x2 + 1

Linear / Not Linear


Why?___________________________________________________________________
9. 
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Linear / Not Linear


Why?___________________________________________________________________
For each graph, table, equation, or sequence, circle 




KEY
Linear or Not Linear and explain why.

1.

	x
	−4
	−2
	0
	2
	4
	6
	8

	y
	3
	4
	5
	6
	7
	8
	9


Linear / Not Linear


Why? 
When graphed, the ordered pairs form a line.
2.
y = −2x2 −2x −2

Linear / Not Linear

Why?
The greatest exponent in the equation is greater than 1.
3.

	x
	−4
	−3
	−2
	−1
	0
	1
	2

	y
	−26
	−14
	−6
	−2
	−2
	−6
	−14



Linear / Not Linear

Why?
There must be a constant difference among the consecutive y-values. Also, the y-values begin to repeat, suggesting a curve or bend.
4.
−8, −5, −2, 1, 4, 7, 10, …

Linear / Not Linear


Why?
There is a constant difference, or slope, of 3.
5.
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Linear / Not Linear


Why? 
The greatest exponent in the equation is 1.
6.
−20, −10, 90, 100, 200, 210, 310, 320, …

Linear / Not Linear

Why?
There are two rules. Each rule separately has a constant difference, but not taken as a whole.
7.

	x
	24
	28
	32
	36
	40
	44
	48

	y
	−2
	−1
	0
	1
	2
	3
	4


Linear / Not Linear


Why?
The consecutive y-values have a common difference. Also, when the ordered pairs are graphed, they form a line.

8.
y = x2 + 1

Linear / Not Linear

Why?
The greatest exponent is greater than 1.
9. 
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Linear / Not Linear

Why?
The graph is clearly not a straight line.
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